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(1) Which of the following curves has no horizontal asymptote ?
V% +xZ x?
Wy=Vzt+x? -5 By=—"35— ©Or=72= O)y=+-V*+x
E)y= VxF+xZ +2°

@) [ 20 = 1)(x? - 2%)%dx =

@ws: ®3; ©O = O = ® =

8 12 10

(3) Which of the following statements is correct ?

T
Sin —

sin= sin x
X X — Q0

(A) limg ;== =0 (B) limy oo ™=% =1 (C) limy e, xc0s= =0 (D) limy0

X
3 . 1 5
(B) lim,._,q sin £ does not exit

“4) d%f:sin t?dt =
(A 0 (B) sinx* () 1 O sin# (B) =

(5) Let [ sin3xcos?xdx =Acos’ x + Beos’ x + C. Then A +B =

A -= B = © -2 O = ® -

15 15 15 15 15

(6) The length of the curve y=¢",0<x < 1, is
Q) [, VIFerdx B) [} 2mxvi+eZdx (C) [ 2mxVIFefdx (D) fiv1+e dx
®) f, VI+eFdx

(7) The radius of convergence of the series Y.,—on! (x —3)" is
@ o ® ;OO0 ® I

® [y Jy, e dxdy =

W= @ 0 o e




B B e K 106 24K
BRI 4 184 R
#E I My % 2 A# 2 R

(9) Which of the following points is a critical point of the function f{x, y) = e2¥~%*~¥%9

@ &H B O0H © €LYy O @D ® 12

(10) Given f_—; = Ym=0X™, |x| <1, the Maclaurin series of is

(1-x)?

(&) —Zpmna™ B) —Ip(+1x" (€) I+ 1™ D) X2+ Dxn

(EB) Xp=inx"
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(O If flzf(x)dx =3 and fozg(x)dx =2, then foz flz[f(x) + (g + g(»)]dxdy =

(2)Ifz=y+j(x2—y2),then ygz - xgg =
X
X244

(3) The absolute maximum value of f{x) = on the interval [0, 3] is

(D IEB=[0,1]x[-1,2] x [0, 3], then [[f, xyz2dV = __

¥ =AM (5 10 4 2 )

(1) Find the directional derivative of the function fox, y)=x4" - 4y at the point (2, -1) in the

direction of the vector v = 2i + 5j.

(2) Evaluate [[, (3x + 4y2)dA, where R is the region in the upper half-plane bounded by the

circles x° +y* =1 and »* +y* =4,



